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1.

‘Nuakhai festival’ is celebrated in which
state?

(a) Madhya Pradesh

(b)Jharkhand

(c) Odisha
(d)Andhra Pradesh

. Recently ,Indian Army chief Manoj Pandey

has been conferred the honorary rank of
Army General of which country

(a) Nepal (b) Bangladesh

(c) Bhutan (d) Myanmar

Which State government/U.T has
announced to declare a public holiday on
the birth anniversary of Maharaja Hari
Singh on September 17, 20227

(a) Ladakh

(b) Himachal Pradesh

(c¢) Uttarakhand

4. Which State government has notified

Nanjarayan tank as a bird sanctuary?

(b) Tamil Nadu
(d) Telangana

(a) Kerala

(c¢) Karnataka

Set A

5. Which city of Uttar Pradesh has been
declared as the ‘first SCO Tourism and
cultural Capital’?
(a) Lucknow

(b) Varanasi
(¢) Mathura (d) Ayodhya
6. Which state government will use portable
device ‘SAANS’ to prevent deaths of new
born children?
(a) Manipur
(b) Assam
(c) Mizoram

(d)Nagaland

7. Who has become the new president of
Hockey India?
(a) Dilip Tirkey
(b) Vineet Saran
(c) Roger Binny
(d) Tyeb Ikram

8. Who has won the ‘changemaker’ award at
the UN SDG Action Awards?
(a) Purnima Mishra
(b) Srishti Bakshi
(c) Nikhil Kamath
(d) Vinayak Godse
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1. 'J3TRATS Soga' forg e | HTAT ST 22 5. 3TN U o ford W@ Al 'Ugelt TEEtel gdeq

(a) 9T U 3R Giepfcreh TeTem= Siftr fomam mar g2

(b) IREE (a) TETH (b) RO

(c) enfe=m (c) 7yq (d) swren

(d) s R

6. TSI STl ST g Y ek o foly shie it T

2. A g H, AR 91 T  H1IST 9IS ol TSR TIead fearsd "Fid'(SAANS) T SUART

foh S=T o TT STIET o AIG UG § ST FHAT?

fraT T g (a) AT

() FuT@ (b) /=

(b) SiveTeT (c) fasta

(¢) e (d) Smets

(d) =ER

3. fora ToT ORerry/hg ia uewr 7 17 fdeR, 7. gieh! ST o AT 3Teae hi o4 &7

2022 I AEIIST g 4@ &l St o (a) feefia foehf
grasT{~eh STSehTYT SIS ki ahT UarT feRarm (b) forita @
5 (c) TR forsit
(a) eTEA (d) e gt
(b) femTere we=
(c) STES 8. ITA THEISH TR SFaTed H 'TSTHER JHEhR
(d) ST 3R FEHR e Sfta 22
(a) gfoET fHeT
4. TrT TSI TR A TSR o ol uah (b) ¥ sreeft
3TARYA & ¥ § Srfegferd foram 22 (c) Tt e
(a) ohTet (b) TfHeTTg (d) ferrares red
(c) FATeh (d) derTT

Set A 2
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9. Which medal was won by Antim Panghal

in the ‘National Games 2022’?
(a) Bronze
(b) Silver

(c) Gold
(d)None of the above

10. Who has been awarded the Nobel Prize in

Literature for 20227
(a) Yunking Tang
(b) Annie Arnoux
(c) Alexia Putelas

(d)Karim Benzema

11. Who has become the Brand Ambassador of

T-20 world cup for Blind?
(a) Sachin Tendulkar
(b) Virendra sehwag

(c) Yuvraj Singh
(d)Virat Kohli

12. The Maumluh cave located in which state

has been recognised as the first Indian
geo-heritage site?

(a) Meghalaya
(c) Nagaland

(b) Manipur
(d) Mizoram

Set A

13. The Edutech company ‘Byju’s’ has
appointed whom as the global Ambassador
of ‘Education for All Initiative’?
(a) Cristiano Ronaldo
(b)Lionel Messi
(c¢) Shah Rukh Khan
(d) Amitabh Bacchan

14. Who has received 32nd Bihari Award?
(a) Madhu Kankaria
(b) Venky Ramakrishnan

(c) Madhav Hada
(d)Dulari devi

15. Which country has established the world’s
first fully functioning ‘Sand battery’?
(a) Sweden
(b) Norway
(c¢) Namibia
(d)Finland

16. Who will host the ‘Football Club World
Cup’in 20237
(a) Morocco
(b) Algeria
(c) Spain
(d) Portugal
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9. AR Tu = THT WA 2022' H HHA-H1 UGH
Sitar e
(a) g
(b) &I d

(c) @t
(d) SuderT H 9 g TG

10. 2022 T I T Areiet IIhR fohd T& fora
T g2
(a) AfekT T
(b) Tt reifaRT
(c) qetferera geere
(d) = ST

11. el o forg §-20 forsg T 1 sife @t e
TP
(a) W dgersht
(b) =g Feam
(c) Farst i
(d) ferre ehigeit

12. fora s § R HiHeg T Sl TIH TR -
fermaa @ % €9 H A € S g2
(a) T
(b) wforgz
(c) ARl
(d) freRm
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13. U hu-t 'STaS] o "TIhe Bk 3fet
sfafRmfea o1 afyen Torga fora frger foran 22
(a) forfeeam et
(b) ferame At
(c) TMEEE @

(d) etfaarT s==

14. 3231 forgit [werR ford fier 2
(a) AY kAT
(b) ST THFWIT
(c) Hrea gret
(d) gemdt 2t

15. Tore w1 3 gfea Y geett gut forameiier 'ds
et Tt 6t 82
(a) @t
(b) Hfe
OEICUERI
(d) fFrcts

16. 2023 ¥ 'Hesicl gorel {94 Y’ i AT hiel
HUTT?
(a) HRH
(b) 3TestifT
(c) @
(d) eIt
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17. Which has become India’s first payment
gateway to support credit cards on UPI?
(a) Phone pay
(b) Bharat Pay
(c) Google Pay
(d)Razor Pay

18. With reference to the panchayati raj
institutions, which one of the following

statements is not correct?

(a) It is compulsory to constitute the State

Election Commission.
(b) It is compulsory to have regular

elections in the panchayats.

(c) The minimum age to contest panchayat

elections is 21 years.

19. The provision for the constitution of ward

committees in the municipalities is
mentioned under which one of the
following articles of the constitution?
(a) Article 243 R

(b)Article 243 S

(c) Article 243 T

(d)Article 243 O
Set A

20. Which one of the following statements is

not correct regarding Jaipal Singh Munda?

‘Committee of the constitution.
(b)He captained the Indian field hockey

team in the 1928 Summer Olympics.
(¢) He was selected to work in the Indian
Civil Service.
(d) During the Constituent Assembly
debates, he rejected the demand of
Nagas for seeking Independence.

21. With reference to the historical
background of the constitution of India,
which one of the following statements is
not correct?

(a) The Government of India Act 1919 for
the first time introduced bicameralism
in India.

(b) The Government of India Act 1935
provided for the adoption of dyarchy at

the Centre.

(c) The Indian Councils Act 1909
'separated, for the first time, provincial
budgets from the Central budget.

(d)Indian Councils Act of 1861 restored the

legislative powers to the Bombay and

Madras Presidencies.
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17.UT3TTE WX HiST 1S ohl THI i AT WRA
T IEAT AT Ted shi o T §2
(a) BT
(b) YRA U
(c) T T

18. gaTI U gerrel o e #, Fufefaa o @
i< |1 AT Tl gl 82
(a) =7 fater ST o1 7o Sifemd § |
(b) Teraat | i game e srfar § |
(c) U=TId AT S o foll =[AaH 3R] 21 a9
2|
(d) reITereit shi ekt SR 2Tl S arfererd @ |

19. TR UTfereh1an | a1 Giufadl o S+ ol UTaL=
Gferem 3 Frraferfea o @ v srg=de & siafa
afofa ¢?

(a) 3= 243 R
(b) 3= 243 S
(c) 3T 243 T
(d) 3193 243 O
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20. 5rauTe g et & gy # fFmfafea § @ &=
1 e Fet 78l oF

(a) o Wferer <Rt o WiHAfT < TEw o1

(b) 387 1928 3 UISHERTEAI 3NeAUeh T WRA
ice glehl ST ht AT ol |

() 3% R f&farer e # o1 & o fore
T T AT |

(d) GfIEm 1 Y S o SR, Sgi+ AR
T T Bl JITT ol WS T ST |

21. YR o Wi sl UfgTiaes g & gy H,
fmferiRaa & @ i 91 e 9et 98l ef

(a) YR T¥hR ST 1919 9 Ugelt IR WRA
¥ fEHeIT e hl YoaTd hl |

(b) WRA TR T 1935 7 g & g
QT 1 3TIT T AT foraT |

(e) ¥t aRwg Stfefrr 1909 7 dgelt IR

e SSTE | Ui 19 SoTe eh 3T foha |

(d)1861 F AR Tfkwe STfef=ay 3 58 3R
T YIS Ht okt faumit siferaat sgret
<l
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22. Which article of the constitution provides
that the law declared by the Supreme
Court shall be binding on all courts within
the territory of India?

(a) Article 140 (b) Article 141
(c) Article 144 (d) Article 145

23. Which one of the following statements is
not correct regarding the Comptroller and

Auditor General (CAG) of India?

(b) The CAG can be removed in a manner
and on grounds similar to a judge of
the supreme court.

(c) The salaries and allowances of the CAG
are charged on the consolidated fund of
India.

(d) The CAG is prohibited from further
employment under the government of
India or government of any state after

retirement.

Set A

24.Which one of the following statements is

not correct regarding the North Atlantic

Treaty Organization (NATO)?

(a) NATO Headquarters is located at
Brussels, Belgium.

(b) Switzerland is a member of NATO.

(c) Article 5 of the North Atlantic Treaty
provides for collective defence of the
member states if there is an armed
attack against any one of them.

(d)At present, NATO has 30 members.

25.The headquarters of the International
Monetary Fund (IMF) is located at?
(a) Washington, D.C.
(b) New York
(c) Brussels

(d) Geneva

26.The TUCN status of the species of Cheetah
that has been reintroduced in India is?
(a) Endangered
(b) Vulnerable
(c) Criticality endangered

(d)Near threatened
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22. YT 1 i 9T TS T el ¢ foh

FA AT GRT SIS I WRA o & oh
HaR Tt TS| W AR IR

(a) TS 140

(b) TR 141

(c) 3T 144

(d) g2 145

23. TR o 4Tk T AgTaRa] uiiaten (Hiush) &
oy # fRuferfed # @ o9 91 %A= 98t 7@ o?

(a) Hest =t frgfer el g1 T == FAfT
1 TR O a6t STTeft @ St srerret #0ft,
AR % e SR AT 5 foraes &
et St g § 1

(b) HTSHt ol TaT=T <ATATAd oh AT b
T dlieh ¥ 377 YR WX AT ST Hehll
gl

(c) TSt & Fa- 3R Wt vRa o afera e
R TR fohy S € |

(d) STt =6t FaTEfi % o8 9IRS TR AT

fordt oft ToT Y TR & dgd 3T ASIR &
Tfcrererd foram T g |
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24,373 3redifes G Wre- (A1) & g9y o

fFraferiaa § @ i 91 e 9et 98l oF

(a) 1T GEATerd FHed, Afcsam § fRra g |

(b) fEesTeete A1 #r wew § |

(c) ST STeaifcd Tf T AT 5 TG <=M
&Y ArHfeEh T8I T TS T ¢ Al S8
Q forelt Ueh o ReeTTh TRe gHeT 2IaT ¢ |

(d)adHE H AR % 30 S ¢ |

25. ST a1 &9 (IMF) 1 qeearer f@rm g2
(a) TfITE L2
(b) =gt
(c) s
(d) fSman

26. <Y1 i S/ Uil ot wRa | R & &
2, ST TUCN fufy s/ 22
(a) ¥ (Endangered)

(c) IR-¥aheU&d (Criticality endangered)

(d) ehe Teheus (Near threatened)
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27. The government of India has recently
launched the Amrit Dharohar Scheme. The
objective of this scheme is?

(a) To promote natural growth of the
Cheetah population in India.
(b) To conserve the Himalayan forests in

India by promoting their optimal use.

(d) To conserve and protect the forests of

the Western ghats.

28.The chairman of the State Disaster
Management Authority (SDMA) is ?
(a) The chief minister
(b) The chief secretary
(c¢) The state home minister
(d) Secretary, state disaster management

secretariat.

29.The head of the National Disaster
Response Force (NDRF) is?
(a) The Prime minister
(b) The Home minister
(c) Secretary, national disaster

management secretariat

Set A

30. According to the 2011 census, which one of
the following types of urban areas form the
largest component of urban areas?

(a) Statutory towns
(b) Census towns
(c) Urban agglomeration

(d) Out Growth (OG)

31. According to the 2011 census, among the
union territories, which of the following
witnessed the highest growth rate of urban
population in the last decade?

(a) Lakshadweep
(b) Daman and Diu
(c) Chandigarh
(d)Delhi

32. Which of the following scholars held that
"public administration is an instrument
with two blades like a pair of scissors" ?
(a) Dwight Waldo
(b) Herbert Simon

(c) Lewis Meriam
(d)Woodrow Wilson
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27. Ad TR A el _ﬁﬁ'ﬁ' SHA YT IISTAT [E

1 ¢ | ST Ao T 37T &7

(a) MR | =T hl 371G o UTehfcieh et st
T T |

(b) Ra & feATerdt a1 o STAH START &l
ST ST ITohT TX&TUT AT |

(c) ST 5 FETH IHATT h STl G

IeTeRT HETOT AT |
(d) afEre =Te o =i ohT UXETOT 3R TRET T |

28. TSI IS VST TSRl (THSITHAT) 6
Y er

(a) gt

(b) g wfea

(c) =T & T[g HAT
(d)afEE, ST 3UeT Yae afedred

29. TEH IR 7rE o (NDRF) 1 9 g2

(a) T
(b)TTe #iT
(c) i<, T U YTe Hierarerd
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30. 2011 T SFRTUHT & TR, Fafefea # 9 form
TR T FEd &3 At &1 ohl Ty SIST Ueeh
a?
(a) iR TR
(b) SFITOTET TR

(c) ‘x’@ﬁﬂﬂ'ﬁ?
(d) 3mse M (0G)

31. 2011 ST 3 STT9R fUrad e # &g
SR U= H § fores wrgdt s} sht I=aw
g & St

(a) ARG

(b) T iR &
(OEERE

(d) feeedt

32. Frafeed # @ forg forgmr o1 7= ¢ o "ol
TRITE el ) Tl &l &S aTell Ueh TR0l "2

(a) TST aTeR!
(b) Bei< HIgHA

(c) g9 A"
(d) e forew=
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33. Which one of the following is not the part 35.The Global Multidimensional Poverty

of the barriers to good governance Index does not take into account which of
identified by the 2nd Administrative the following indicators?
Reforms Commission in its report Citizen (a) Child mortality (b) Sanitation
Centric Administration? (c) Electricity (d) Per capita income
(a) Attitudinal problem of civil servants
(b)Red tapism 36. Which one of the following is not part of
(c) Lack of accountability the first generation of human rights?
(d) Official Secrets Act 1923 (@) The Right to participation in cultural
‘heritage

34.Under the usual status approach, an (b) The right to life
individual is considered unemployed if? (c) Equality before the law
(a) The person could not get any gainful (d)Right to a fair trial

employment even for 1 hour on any day
of the week. 37. Which one of the following is not the
feature of Development Administration?
(a) Status quoist

(b) Goal orientation

(c) Citizen participation

(d)Responsiveness
(c) The person could not get any work
even for one hour in a day. 38. The United Nations Human Rights
(d) The person could not get any gainful Council (UNHRC) was established in the
employment for the majority period of year?
the month. (2)1952 (b) 1966

(c) 1991 (d) 2006

Set A 11
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33. e vremaferer R o= 3 3rat fdie
oo dfeen Teffree # fFufafea & @
I T YT hl G ohil arell STenail &1
e el &2
(a) TafaeT Qaehi i FATGR T GHET
(b) ATeTRIATRITEN
() IR hl HHT
(d) T MO 1, 1923

34. 9= fRafq Ef¥ehivT o dgd, Ueh SAferd hi
SRS HIET ST @ Afe?
(a) AT ol T o fopdlt off i 1 912 & feorw
o} IS ATHHRI ASTR el et T g |

(b) = =Afera 3§ o o ferq o wrfera o feeem
T, TAfehT SH 2 wifek okl f&&am g =t
e &t srferenien erafe o forg s et
foerarar g 1

(¢) fem1 & wer w1 o forw oft safera &t ohis @i
TS A g 2|

(d)wE & erfSeier gHa § safad & s
AHHRT TSR Tl T arer g |

Set A
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35. aftyen sgaTmaTHt Wisht Yot Fafafea o @
fore Gohaeh ot & o gl T 22
(a) A GG
(b) T=ar
(c) Torstett
(d)wif aafery s

36. Fafeifed ® | i 7 S1f9erRi ot ggelt die!
o1 foea =gt @0
() Wiwhfren feorred o WiTier &1 sifererr
(b)Sfta= =T 3ifeerr
(c) ST o THET AT
(d) Freaeg gaTs 1 AfeR

37. Frafeifea § @ si=-gt foenra wemrae o forkivan
T
() FefRfa ST =T
(b) e stfafar=ma
(¢) AT WTiert
GV SEIEE!

38. TgerT Y AETeepR qRkue (UNHRC)
RITIT fohd Y g ot?
(a) 1952
(b)1966
(c) 1991
(d)2006
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39. The concept of Citizens' Charter was first
implemented in which one of the
following countries?

(a) Switzerland

(b) United Kingdom
(c) Canada

(d) Germany

40.Apart from Kalibanga, which is the other
Harappan where the evidence of two
cultural phases is found?

(a) Dholavira
(c) Banawali

(b) Mohenjodaro
(d) Chanhudaro

41. In the areas where Aryan speaking culture
flourished a special type of earthen
utensils was prepared, what was it called?
(a) Painted Grey Ware
(b) Ochre colored pottery
(c) Jorwe pottery

(d) Jhukar pottery

42.The logic "Wherever there is smoke, there
is fire" is a part of which philosophy?
(a) Yoga philosophy
(b) Nyaya philosophy
(c) Sankhya philosophy

(d) Vaisheshika philosophy
Set A
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43.The places and regions conquered by
Samudragupta are seen in the five groups.
Which states were included in the fifth
group?
(a) Chera and Chola
(b) Shakas and Kushans
(c) Pallavas and Scythians
(d) Nepal and Punjab

44.Consider the following statements
regarding Harshavardhana-

1. He was attached to Buddhism, he
converted to Buddhism in the last years
of his life.

2. He tried to discourage other religions.

Which of the appropriate statement(s)

is/are true?

(a)Tonly
(c) Both 1and 2

(b) 2 only

(d) neither 1 nor 2

45.Who was the famous historian who came
to India with Mohammad Ghaznavi, who
described the political and social condition
of India in his book?

(b) Alberuni
(d) Ibn Battuta

(a) Farishta

(c) Afif
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39. ATTRER TSR/ YOI U= hl TR Joid
Ugel faferfad ® 9 fore <91 § @] &1 715 oft?
(a) foesRets
(b)grT=es fehrem
GETIEN
(d) S+t

40. TS 3 SfITReRT o8 GHY SSWTS TS hi-
1R, STel A & Fikeptaeh Ta@meil & ared e
&
(a) AT
(c) sTaEt

(b) AgTSIEe!
(d) Trgast

41. =1 &0 H i wifSr ot Twepfa o forehe g
Tl Teh oI Uk <t TRgH o a1 ot HToT
BIT AT, Y T gl STl AT
(a) farfm ger e
(b) Tifkes ggTe
(c) STRA HEHiE
(d) g 3™is

42." STgt STet 31 T&dl §, I8l dgl ST et ¢ oil
TRt ST fore Rt ot o @2
(a) a1 2=
(b) = =T
(c) e /A
(d) Srifres ==
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43. 9T g fafSra =i 3R &= Y uter wwgt
H SfeT ST @ | 9ied 9Hg # hie-ohi T
MIEROH
(a) 3R =
(b) w1k AR FHuToT
(c) Teed 3R Hfeas
(d) AuTet 3R G

44.5HaYA o oy H fafafed wal w ffEr

hifoTa-

1. SHeh! Sig ¥ A ST AT, IE e o
3iferw ot | sivg & 379 foram o |

2. 39 GER gHI il gelcdTigd i ol U
femam @ |

SURierd B | whie |1/9 e T §/e?

(a) @@ 1

(b)haa 2

(c) 13 2 At

(d)Far 18R T 2

45.IgHE TSI-e o 919 R 3T Tl UG,
gfigraeR @i o, 59 g+ forarer o wRa

I TSI cIeh Tof |IHTSTeh ST 3T forega oot
fomam 2

(a) Wi
(c) TR

(b) srerare=it
(d) Feeraan
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46.Which Sultan of Khilji dynasty followed
the principle of "state based on the
voluntary/ willing support of the
government"?
(a) Jalaluddin Khilji
(b) Alauddin Khilji
(c) Mubarak Khilji
(d) Nasiruddin Khilji

47.Which statement is not true regarding

the judicial system of the Sultanate?

(a) Qazi used to decide Diwani
according to Shariat.

(b) Hindus were governed by their own
personal laws.

(c) Justice was administered by the
heads of the castes in the cities.

48.Which of the following was the 'Chola
and Damol' under the Bahmani

kingdom?
(a) Architecture  (B)IP6TH
(c) Temple (d) Local Panchayat

49.Which one of the following was not a
feature of the Nathpanthi movement?
(a) Opposition to Varna system
(b) Challenge to Brahmin supremacy

(c) Support of caste system
(d) Sense of equality

Set A
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50.When was the Communist Party
established?
(a) 1920
(b) 1925
(c) 1927
(d) 1929

51. In August, 1918, the Indian National
Congress called a special session in
Bombay. Who presided over this
session?

(a) Hasrat Mohani (b)Hasan Imam
(c) Badruddin Tyabji (d) Motilal Ghosh

52.With reference to the Civil

Disobedience Movement, consider the

following statements-

1. Forest laws were broken in
Maharashtra, Karnataka and Central
India during the Civil Disobedience
Movement.

2. The rural population in eastern India
refused to pay the chowkidari tax.

Which of the statements given above

is/are correct?

(a) 1 only (b) 2 only

(d) Neither 1 nor 2
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46. fErersit 3 3 form oo = i) & Wisss

YT W) TR T o agia &1 gre= feram?

(a) STATIEH ferersit
(b) AL fersit
(c) HeIReh ettt

(d) TS Raersit

47. TR ~ITT ST % Y&y | i<l T-

HUT qA T 2?7

(a) FTST ST T T YRITd o STTHR BT
T |

(b) f&g3Tl W I71ah 3T AR 1= AR gid
of

(c) Tl | STferdl o HREAT =1 o o |

(d) PISTRTY 1T il Bl S o et ot

48. SIEH THTST % 3Taid '=iel 3R STl
fraferfea & @ = o
(a) &I hedl
(c) afex

(b) sITTR
(d) @I =

49.FaferfEa & 9 FE-9t Areraedt T ft
forereraT =gt ofi?
(a) Sfer o =1 oy
(b) STEIOT ST 1 ATt
(¢) 0T ST T FHAT

(d) FHTEAT ohT 9T
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50. FHEI(RT UTET ohl T i g3 TP
(a) a9 1920
(b)a 1925
(c) o 1927
(d)ad 1929

51. 37T, 1918 H YR AT HiUH = Hors H Th
foRIS =1 FEATT AT | 3T T hl STeALAT fohe
ot off?

(a) B9 =gl
(b)&H g
OESHERRER
(d) \<iieTer =y

52. QT a3 e o v o fAgfafaa
FHAl | R Fifse-
1. GieHT 3Tay 3ficie o R

HERTY, FATCeh 3R AL WRA § ST BT
dIg T |

2. &t R ® yTHtor STt 3 SheR! FR H
37T T § §hR e feAT |

U U B G i 91/ HIF & /82

(a) et 1

(b) aet 2

(c) 18R 2 T

(d)TAT1RAE 2



CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight


53. Who founded the Indian Independence
league?
(a) Subhash Chandra Bose
(b) Rash Behari Bose
(c) Captain Mohan Singh
(d) Madanlal Dhingra

54. In the context of communalism, who said

that 'it is certainly our fault and we have to

pay for our weaknesses'?
(a) Mahatma Gandhi
(b) Jawaharlal Nehru
(c) Rajendra Prasad

(d) Vallabhbhai Patel

55.Which of the following pairs is not
correctly matched:
(a) Pantothenic acid-vitamin B-5
(b) Pyridoxine- Vitamin B-7
(c) Cobalamin- Vitamin-B12

(d)Riboflavin- Vitamin B-2

56. SI unit of surface tension is:
(a) Newton
(b)N/m
(c) N/m"3

(d)Pascal
Set A
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57. Which of the following disease is/are
caused by Protozoa:
1. Malaria
2. Pneumonia
3. Cholera
4. Diphtheria
Choose your answer with the help of codes
given below:
(a) Lonly
(b)1 and 4 only
(c)1and 3 only
(d)1,2 and 4 only

58. What is the primary drawback of SONAR
technology?
(a) It can only detect objects in its line of
sight
(b) It can only detect objects at short
ranges
(c) It can be affected by water temperature

and salinity
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53. Sfeam EUSH T oht RITIAT fordeh GRT 1 5
oft?
(a) Y =5 919
(b) TrfeETt s
(c) g HigH i
(d) AeTaTd SR

54. FVCTReRdT o gy o foram gt o fop 'Fifea
€Y Y Ig FHRT S § 3R gH T HHSIE
EERUCEIRGN I
(a) HeTT et
(b) STATEXETA &

(c) TG 9T
(d) TEATTS U

55. frafofea & @ = ar g 9 gaferd 78 @
(a) YSrAfer vfie-faem@a &t -5
(b) ursReENfee- foerfam st -7
(¢) shraTarHH-faerfa=-st 12
(d) TEeRifeE- foerfae st-2

56. 9 TG 1 SI AT &:
(a) e
(b) T/ ™
()T /TH"3
(d) areehet
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57. Faferfed # @ S=-a7/8 AT dersis/
TSTEATOT 3 ShIROT BT /81 &
1. ot
2. fmifern
3. 8T
4. it
= U T Fel it FEradT § 39T ST IH:
(a) a1
(b) a1 1 3R 4
(c) el 1 371 3
(d) e 1,2 31K 4

58. TIFR Wenfireht ot TeifHes et T g2
(a) TG shereT 3Tt EfY ol YT § 3Tl oI gar
T Tehell §
(b) Tg heret BICT U Aok A3l hT IaT T
RETIN
(¢) I T o ATIHT TR Taurdr & GHIferd gl
bl ¢
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59.Which one of the following is/are isotones
of 1653°
1. 17 CI*37
2. 18 Ar"39
3. 19 K*40
4. 20 Ca™40
Choose your answer with the help of codes
given below:
(a) 1and 2 only
(b)1and 4only
(c) 2 and 4only
(d)1and 3 only

60.Which one of the following statement is
not correct with reference to Windows
operating system:
recycle bin

(b) Users can restore any files in the
recycle bin if ever needed.

(c) Users cannot increase free space of disk
by sending files in recycle bin

(d) Users can empty the Recycle Bin to

clean it at once.
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61. The buckminster fullerene is naturally
occurring element found first in:

(b) Soot
(d) Fog

(a) Coal
(c) Smoke

62. Blockchain technology can be used in
which of the following fields:
1. Banking and Finance
2. Healthcare Management
3. Elections
4. Agriculture
Choose your answer with the help of codes
given below:
(a)1and 2 only
(b)1,2 and 3 only
(c)1and 3 only
(d)All the above

63. Which one of the following best describes
“Google Bard”:
(a) An integrated subscription service of
google.
(b) A cloud platform of google.
(c) An Al-powered chatbot.
(d) A user customized temporary alteration

of the logo on Google's homepages.
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59. Frafeed & & S /Y STSHEH 8/8 1653
1. 17ClI*37
2. 18 Ar"39
3. 19 K"*40
4. 20 Ca™40
= T U el Sl FEradT § 9T 3T IH:
(a) Shaer 1 3R 2
(b) el 13X 4
(c) et 2 3R 4
(d) e 137 3

60. faerT et Ren & e & Fafafea d @
i< |1 HU Tl el o
(a) BeT% TS WISl qEEeha fo & &t a1g ST

Tt |
(b) afE ek g dt SYANTehdT AdTehet for

H forelt oft ThTget oht GATTOT ot Fehdl € |
(c) STANTRAT TaIhet forT A WSt Aot
fen o @l TIE At T a8 dHha ¢ |
(d) SUARTeRAT {ETIehet oI hl Ueh IR | AT%
A o o0 ETell R Fehdl ¢ |
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61. THHEE T UThicIeh €9 § YT S STl

T ¢ ST T Ugel U1 ST 2
(a) e

(b) whrfera

(c) gait

(d) T

62. sefehe UENfeh 1 SuaiT fafefea & @
fore &= # foram ST gohar &
1. SifeT &R for
2. WY gaud
3. 9@
4.
= 3T 7TQ el St e § 39T 3T IA:
(a) shaer 1 3R 2
(b) Fae 1,2 3R 3
(c) Sherel 1 3R 3
(@) SieR gt

63. e # 9 9 9T Ueh "R ST SR Ho 31T
O LAl ¢

(a) T0TCT Shl Teh Tehlohd AT €T |

(b) T[T T T FATSE TICHIH |

(c) T TITE-Hferd Seate |

(d) Teh 3UARTeRAT g1 Google/TRTE o HEYSI
W LOGO/frg o 3rart uftacd= ot

AN l
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64.Which of the following pair is not correctly
matched:

(a) Cassini—Huygens- Orbiting the Venus

(c) Voyager —Exploring the outer solar
system

(d) Artemis- Lunar Mission

65. Which of the following is the first
genetically engineered hormone?
(b) Somatotropin

(a) Oxytocin

(c) Insulin (d) Adrenaline

66.‘Dharma Guardian’ is a Defence Exercise
conducted between the Armed Forces of
which countries?

(a) India-Sri Lanka
(c) India-Japan

(b) India- France
(d) India-Oman

67. Which of the following is an example of
highly hygroscopic fertilizer:
(a) Calcium ammonium nitrate
(b) Ammonium sulfate
(c) Urea

(d) Sodium nitrate

Set A
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68. Lactose found in milk is a disaccharide
composed of:
(a) Glucose and Sucrose
(b) Glucose and fructose

(c) Maltose and glucose

69.With reference to the Zero budget natural
farming (ZBNF), consider the following
statements:

1. Itis a method of chemical-free
agriculture drawing from traditional
Indian practices.

2. It promotes soil aeration, minimal
watering, intercropping, bunds and
topsoil mulching and discourages
intensive irrigation and deep
ploughing.

Which of the statements given above is/are

correct?

(a)1only

(b)2 only

(c) Both 1and 2

(d)Neither 1 nor 2
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64. fafefed & @ = ar sier gafea T@'e:
(a) HRE-B[oIE- 7ok 1 afehmT
(b) TSR - WA g T AH{==I07 IR S
() ATASK - R G HeSe ohl @ISt
(d) oTerAw- R e

65. faferierd & | i 91 Ugel STgafees 9 d
eI gl €2
(a) Mferdteifa=
(o) gfer

(b) SHEIGITUA
(d) TgATeITEA

66. 'av TiSTa foRe e 3 TR Jefl & S
STRNTST ek T&IT 37979 62
(a) WRa-Hietent
(b) MRA-RH
() WRA-STar
(d) IRA-3TH=

67. Frafefed § @ e rafees garTe! 3ateh
T Tk SETEX0T §:
(a) iozrm f~aw AEee
(b) smHIfEH Hethe
(c) Tfeam
(d) Sifeam Argee
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68. TI T ITAT ST FATEAT AT Uoh STEAPISS §
TrﬁEFIT‘@ﬁT%
(a) TETERIST TR Fohist
(b) TThTST SR Fpererst
(c) TTTEIST 37 Tefehiot

69. T SSIE AT @l (ZBNF) & 4 H,
frmferRad i ©) foam &

1. I8 IRUNER MR Ugfcrdi 9 UTed T8 gord
iU TG |

2. 7g Bt % o=, & 9 9 T 3,
LRI, TS 3R STTHIS A= hl STl
I & 3R wa RS 3R Tl JaTs
galcdTed AT € |

SR feU 7T el § | i 9@1/9 9 /e

(a) Shad 1

(b) et 2

(c) 132 T

(d)TAN1IRTE 2
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70. ‘Diwa-Kisun were tribal leaders of which
region of Jharkhand:
(a) Santhal Pargana
(b) West Singhbhum
(c) Palamu

(d)Hazaribagh

71. Kharagdiha state was was established in
which of the following time period:
(a) 8th century AD
(b)11th century AD

(c) 15th century AD
(d)17th century AD

72. Which of the following pairs is not
correctly matched:
(a) Bhogta Revolt — Jainath Singh Bhogta
(b) Ghatwal Revolt —Bholanath Ghatwal
(c) Chuar Revolt— Shyam Ganjam
(d) Chero Revolt— Bhukhan Singh

73. Dhokra craft of Jharkhand is related with
which of the following caste of artisans:
(a) Malhore
(b) Chik- Badaik
(c) Oraon

(d)Birhor
Set A
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74.Amadubi village of Jharkhand has a special
significance in art and culture due to:
(a) Tattoo Artists
(b) Paitkar painting
(¢) Bamboo Art

(d) Miniature Woodcrafts

75.Who constructed the famous Ranchi Lake:
(a) Colonel Dalton
(b) General Noel Beresford

(c) Colonel Onsley
(d) Sir Lionel Edward

76.This place is at a distance of 12 Kms from
the Pathargama Block which was inhabited
by Raja Basant Rai. There existed a big
tank in 50 acres of land. According to
legend, no one has ever been able to cross
the tank from one end to another whether
by swimming or an elephant or in a boat.
Identify the place:
(a) Masanjor Tank
(b)Basantrai Tank
(¢) Balchaura Tank
(d)Sunder Tank
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70. SaT-fore STREE o fore &t o STTfeaTet Jan
o
(a) Gl 9T
(b) uterHt Rigym
(c) g

(d) gmEmT

71. WSTTelel TS @hi a1 fAafeifed & 9 o
TraTEfy § gs off:
(a) 8t TdTse) o
(b) 110 TraTes} So
(c) 154t wraredl $o
(d) 17 Tt} o

72. o ® @ = @ g e gafea T8t e
(a) AT forgie - St &g |iran
(b) =TeaTTet forglg - Hief=re redre
(c) 3R forgig- =™ 5

(d) = forse- o o

73. SRS 1 Siepdl ey fuferfaa ® 9 forg sfar
F HRRI F Gafed &:
(a) AEER
(b) fEreh-srgTEah

(c) a

(d) foreR
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74. SRS % STHTGSI el T hell TR Y&pia A
ﬁ'@ﬂﬂ%ﬁ%?ﬂﬁﬁﬁ
(a) ¥ / TEHAT hellehR
(b) S HfeT
(c) 99 el

(d) g&H et

75. Uikg =it sfict o1 fator fore fora o
(a) FIcT STee
(b) SRS T SRR

(¢) oheie STedt
(d) W forae veae

76. I I TAWTHT ik § 12 forariiet &l g W
2, STal STl o8 T 8d A | TgT 50 Tehs STHIA
H Ueh ST & HIS[G ¢ | foharedt 3 o1qaR, #ig
off Faft oft T BR ¥ T BR dh ¢k ol IR
I H T el o ¢ TR g ek a1 grelt an
AT T gl | ST ohl Ut i
(a) HEMSIR dTetTd

(b) SITETERTS TS
OESERUGISIE]
(d) g arers
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77. Which month is regarded as start of new
year in Santhals tradition:
(a) Chaitra
(b) Asadh
(c) Magh
(d)Falgun

78. St. Xavier’s college Ranchi was established
by:
(a) S.P.G Mission
(b) G.E.L.Mission

(c) Dublin university mission

79.India’s first child using in-vitro
fertilization was created by a doctor born
in Hazaribagh. What is the name of that
doctor:
(a) Dr. Siddharth Mukherjee
(b) Dr. Sunidhi Chakraborty

(c) Dr. Subhash Mukhopadhyay
(d)Dr. Satyendra Sinha.
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80. Which one of the following committees is
not associated with industrial licensing
policy in India?

(a) Subimal Dutt Committee
(b) R.K. Hazari Committee

(d) Mahalanobis Committee.

81. The Parliament of India has passed
Unorganised Workers Social Security Act
in which of the following year?

(a) 1997
(c) 2008

82. Considered the following pairs:

(b) 2001

(d) 2014

Five Year Plan Main objective

1. Third FYP - Self reliant
and self generating
economy

2. Fifth FYP - Poverty eradication

3. Seventh FYP -  Infrastructure
development

4. Eighth FYP- Human
development

Which of the pairs given above is/are
correctly matched?
(a) Only1and 2 (b)Only1,2and 3

(c)Only3and4  (E)NZNSENA
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77. G WO § fRE Ag I i 9 99 ohl YoeTd
AT ST @
(a) o=
(b) smsTe
(c) ATe

(d) wre

78. Ga SAfarad shierst Tt g TTfua forar T a:

(a) TE.91.SH. e

(b) SHt.3.va.faem

(c) Eafer fasgferae faw=
(d) et Sigze draTser

79. BTSN § ST Sferex A urat o= (3-fagt
HicATgoe) GRT WRd o 9oH g ot fifa
foraT | 3T SfeeX o1 o7 A §:

(a) = Ragrel Tt

(b) =t. Gffer wsrard
(c) . gAY T
(d) =t " &= |
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80. fraferfea & @ % ot wfafa wra & hafies
TSR AT & Torg, 7e 2
(a) Gfemet g7 AA
(b) 3TR.%. gl WiHfd
(c) Trere wfwfr
(d) Ao Tfufa

81. R <t ¥9e A fFufofaa # @ g ad o
TS AfHeh o Rem fefram ufa
foram 22
(a) 1997
(b) 2001

(c) 2008
(d) 2014

82. fafciiRaa Il W forem &

EECLIDRISE T S

1. e FYP - JMAH
3R & ST
EREICO]

2.9l FYP - T{Jsit 3¥eA

3. 9iqdl FYP - AT feramrd

4. 3maat FYP - g o

S R TTQ 7T H | hi=-81/8 e GAferd

e/e?

(a) P13 2 (b) Faei1,2 3R 3

(oFa@3eiRg  (AIE2IBSiRGg


CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight

CATALYST IAS
Highlight


83.Which one of the following policy is
strategies is not the essential characteristics
of globalisation process in India?
(a) Increase in equity limit of foreign
investment.
(b) Reduction in Tariffs.

(c) Partial convertibility of rupees

(d) Outright sale of the government
eenterprises to the private
entrepreneurs.

84.Small land holders and seasonal workers
are the people who keep moving up and
down the poverty line. This type of poverty
in India is known as
(a) Chronically poor
(b) Churning poor
(c) Occasionally poor

(d) Transient poor

85.Which one of the following economic
activities is not included in secondary
sector activities in India?
(a) Mining and Quarring
(b) Manufacturing
(c) Electricity, gas and water supply

(d) Construction
Set A
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86.Which one of the following is benefited
from increasing inflation rate?
(a) Debitors
(b) Creditors
(c) Wage earners

(d) Salary earners

87.Which of the following statement is/are
correct about capital expenditure of India?
1. It impacts the assets-liabilities status of

the government.

2. It is non-recurring type of expenditure.
3. It focuses on GDP growth.
Select the correct answers using the codes
given below:
(a) Only 1and 2
(b) Only 2 and 3
(c) Only1and 3
(d)1,2and 3

88.Which of the following state of India, has
the maximum carbon stock in forests?
(a) Arunachal Pradesh
(b) Madhya Pradesh
(¢) Himachal Pradesh
(d) West Bengal
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83. frmferfea & @ o <t Torfifa @ ot wRa &

Softer<or Ufshar et 3TTeareaen feeiwar gl @?
(a) forft fraer Y sfFadt dimn & gfg )
(b) it /areent & it

(c) TU T TRk TRaa-aar

84. B YAUR 3R ATt HfHeh I T € St

85. fmferfea & @ =i &t anfefer nfafafs wra

Set A

TR YT o FHU 3R = S-S B ¢ |
WRA H 59 Wb hl TRIsl] shgaldl @
(a) ThIf-eRelt 93T

(c) 3ffehoret I3
(d) gifSie=< 93r

# facires & <y nfafafeay § wnfie 7¢t g2

(b) fafetor
(c) forsTett, T 3R STemgfct
(d) fafor

28

86.

87.

88.

HETERIf &t X dg- 9 frmforfea & & fom
AT Bl 82

(b) AERI
(c) uTReTfHeh 3TSieh
(d) IqTIT

frafefea o @ & 91 e YR & el

T H AN A Fer g/ er

1. g AR hl Hufi-3aaraii oht feufa st
AT T & |

2. Ig 3] YehR hl T ¢ |

3. I% Tohel WXe] IS ol g, TR i & |
== T U e ST TR o F@l IR T
(a) sherer 1 3R 2
(b) et 2 3R 3
(c) herel 1 3R 3

WRd & FafcRea A A g e et |
HaITferen e YeR g2

(a) 3RO T

(b) AT YW

(c) feAraret uaw

(d) afgH e
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89. Which one of the following is not the 92. The Pennar river forms Grand Canyon of

social component of sustainable India, which is situated in which state of
development? India?

(a) Quality of life (a) Tamilnadu

(b) Income distribution (b) Andhra Pradesh

(c) Circular economy (c) Karnataka

(d) Equality and diversity (d) Telangana

93.Which one of the following is not the
90. Which one of the following pairs is not

structural feature of Himalaya?

correctly matched?
(a) Syntaxial bend
Indian cities Geographical name
(b) Antecedent valley
(a) Alappuzha - Venice of India
(c) Steep northern slopes
(b) Chennai - Detroit of Asia

(d) Dissected topography
(c) Hyderabad - Information and
Technology City

94.Which one among the following states is

(d) Guntur - City of chillies
smallest in area?
(a) Andhra Pradesh
91. How many states of India share a border
(b) Karnataka
with only two states?
(c) Chhattisgarh
(a) 2
(d) Tamilnadu
(b) 3
95.Which one of the following millets is
()4 . . I .
consider as minor millet in India?
(d)5
(a) Barnyard millet
(b) Sorghum

(c) Finger millet
(d) Pearl millet
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89. frmferfaa & ¥ = a1 Tad e
AT I gl o7
(a) Sfta= <ht ToraT
(b) 31 feravor

(c) uRka= rdereren
(d) FATar 3R ferfereran

90. fraferfaa & 9 =i a1 3 " gAferd el
82

TR WA Wriferss A
(a) TATHST - WRA ol Af-9
(b) == TR 1 SgTEe
(o) Reemg - FE SR
TR e
(d) TR ferel =1 wrex

91. R % foha- TSAl ol HIAT hael af TSl o
T 82
(a) 2
(b)3
(4
(d)5
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92. UAR & WRA &t g H=a I g, S
URA % forg T | fRa 2e
(a) AfFerTg
(b) atrer we=r
(c) e
(d) FerTT

93. fafeifEa & @ =i+ fgarer™ &t G=mTHS
foreear =t 82
(a) feforaaa s
(b) efercit =t
(¢) tfter ST 3Tl
(d) feresfea wrmemesta

94. TEfefad & 9 &9 91 T 897%a § 9o
BleT 22
OEIER
(b) wATeH
() BftTg
(d) afaaTg

95. fFraferfaa o T == a1 Hier 3 ()
WRA | o7 fAete |1 ST @2
(a) 9T faere
(b) A=\
(c) fF R fieie
(d) uet e
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96.Consider the following rivers of India.

1. Barak

2. Machhu

3. Luni

4. Rupen

Which of the above rivers neither flow into
the sea nor merge with any major river that
flows into the sea, but are lost in the
desert?

(a) Only 1and 2

(b) Only 2, 3 and 4

(c) Only13and 4

(d) 1,2,3and 4

97.The Grey and brown soil is mainly found
in which state of India?

(a) Gujarat

(b) Maharastra

(c) Rajasthan

(d) Himachal Pradesh

98.Among the following states, which one is
the largest producer of natural rubber ?
(a) Mizoram

(b) Meghalaya

(c) Assam
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99.Which one of the following lake is
considered as the highest lake in India?
(a) Cholamu
(b) Tso Moriri
(c) Pangong Tso
(d) Ghepan lake

100. Which city is the host of the First G-20
Sherpa meeting held in India?
(a) Ahmedabad
(b) Udaipur
(c) Guwahati

(d) Bhopal
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96.9Rd i faferferd Afeal ) foam #ifSmw |

97

98.

Set A

1. SR
2. U=

3. Tolt

4. ¥

SURrerd | @ i A < T O s o et @
R 7 & T e el el ag A A
fAerdt ¢, wifehe YT & | STt 8@

(a) FaeT 131K 2

(b) e 2, 3 R 4

(c) SheeT 13 3R 4

(d)1,2,3 3R 4

W 3R ot At g 9 & R & forg
T § UTE St @ 2

frraferfra T & @ i 1 ATk i S
el ST IATEH ¢ 2

(a) faeme

(b) TETe

(c) 319H

32

99. FaferRead # & fore SfcT ohl IR i To e
Selt Sitet | ST e?
(a) =g,
(b) & M
(c) TeTiT &Y
(d) 89 gt

100. MR H AT Tgeit Si1-20 YT SISk o
TSI hie §T AT 7
(a) STEHTIETR
(b) SR
() TamgTel
(d) “narer
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Instructions:for filling/marking the OMR answer sheet / OMR TR~ ﬂﬁ % forg fdar )

1. Fillup all the particulars in the answer sheet carefully. Request for change of OMR answer sheet will
. not be entertained.
o & it froor wewEigEs Wt | omw—mm%a@umﬁwaﬁﬁmm |

2. For filling the OMR Answer sheet and darkening the circle use only BLUE BALL POINT PEN.
OMR F-93% TF Tiven 1 W % forg e e wer ¥ swwmer =6t |

3. Answer sheet will be processed by electroxi_icdevice. Invalidation of answer sheet due to incomplete/
incorrect filling of relevant circle of Roll No. and Booklet Series in the -answer sheet shall result
‘in cancellation of candidature. Any deficiency,jn filling up OMR will be the sole responsibility of the
candidate. Please do not write or mark 6H°this answer shect outside; 15# ‘demarcated areas. It will
invalidate your answer sheet.
m—mlﬁsﬁ@ﬁ*mémﬁmm | 3ot aregan e T § T AR. IW-F F w0
Bhet i S : g | 3. o, e i faeh o
gfﬁsﬁmmﬁ Forsdtaw & |mm—mwaﬁam%mﬁm?qﬁﬁmaﬂt—m
= m e anzln |

4. An example is given below how to fill / mark (darken) Roll No. 41311706 and Question-Booklet

* Series-B. Accordingly you have to fill/mark (darken) the Roil No. and'ﬁuesnon Booklet Series given
to you in yonr OMR unswer sheet.

A 41311906 T TR A0h o Y /e 7 Y Ry G & | 7R R & S o

mﬁgﬁ'ﬂ%ﬂaﬁOMRm—mﬁmf&mmh

=
S
=
&

5%

°°°@9@,®9?5w
000000020 I
eeoea@o'eam“
C00O0D0B®O =
'oceopqo%%

5. Please do not overwrite or erase circles because it will be treated as multiple/wrong answer for which
~ no mark will be allotted.
F A B R 91 QAT WA T T | T T A e /e wwmm@mmm

¥ fora wi oiw T fom smom |

P-I | ' o Series-A






